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QL I Y FHa F 20% F gfF N B1 R N W au F) vz Rraam & e
ST 8, df A & IUHT & FHY 3R arafa® ST & qem foraar srurd 382

(@)1:3

(b)1:4

(c)1:6

(d)1:5

(e)2:5

L1Difficulty 2

QTags Percentage
QCreator Deepak Rohilla

Q2. U AP (ore) W 25% Y oTg B, AN 90% AT 81 TS 3@Tdl, JAW 75%
3P |, BIg AleT Tal 31 60 fHaumT Y5 Aer e H31 & o, foet o smaxas
SATH P HET T fha-t g2

(a) 250.57

(b) 266.67

(c) 275.23

(d) 300

(e) 320.67

L1Difficulty 2

QTags Percentage
QCreator Deepak Rohilla

Q3. TP d3HI ATIRNI U A WR IRAfdd Hd Tod A 80% HfUd e 3ifdba
HdT 8 3R Sifrd Yeu W 25% $1 e USH Hdl g1 3P 3dTdT 98 AP AR A
afd fral 20% Siftre IR ured Ha1 8 iR UTe®d & ufd fbet 10% $49 s=ar 31 v
Yy ufard fean 32

(a) 80%

(b) 60%

(c) 70%

(d) 85%

(e) 90%

L1Difficulty 2

QTags Profit And Loss
QCreator Deepak Rohilla



Q4. A T 1200 WA AT W T o o TR ITA 4% ufd af JreRw a9 w®
IR A AR 59% wfa g AR o<1 WR &1 & 99 916, I FA A & FIH 110
T Sfofa fru | af 4% 3R 5% ufa adf & 7 7y wa=r: fat 872

(a) Rs. 500, Rs. 700

(b) Rs. 400, Rs. 800

(c) Rs. 800, Rs. 400

(d) Rs. 700, Rs. 500

(e) 378 9§ BIS 5T
L1Difficulty 2
QTags Simple Interest

QCreator Deepak Rohilla

Q5. W Wi &Hdl & i Ul § g¥f 3R T BT fyor WRT Srey 31 Aaifta o & gy
3R Ut BT U HHRE: 2:1, 3:1 3R 3:2 81 gl Tt fi7 Ul ) vpar 98 T A
Qe B fear smar 8, @ aivomdt frgror & gy iR it &7 Ut 1 S|

(a) 121: 41

(b) 117 : 22

(c)121:59

(d) 127 : 41

(e) 41: 121

L1Difficulty 2

QTags Mixture and allegation

QCreator Deepak Rohilla

Q6. ‘A", TF-AUTE THg A B gRT far ¢ &1 $71 3MuT ST BT 21 IS 37 T-
:Tﬂ?;r“a?rcfaﬁwmﬁﬁwﬁ:rwﬁ%la‘rsaﬁelﬁwm

(a) 30 faT

(b) 35 faA

(c) 40 f&A

(d) 45 f&=

(e) 50 faT

L1Difficulty 2

QTags Time And Work
QCreator Deepak Rohilla

Q7. SBI A TATAs U &1 Thgfe TS UX 1331 @19 U IUR 2T 3R 3 af a1g, 1728
T =T Sifid fou| afe sare arfifes wu @ aaifora 81, @) sare 3t o feasit 32

(a) 11%

(c) 12%



(d) 8.33%

(e) 9.33%

L1Difficulty 2

QTags Compound Interest
QCreator Deepak Rohilla

Q8. firar &Y adu 3y, 3P T @t 3y ﬁ?ﬁq ¥ 3 ¥ ¥ 3. 9 o =g,
ﬁmaﬁmw%gaaﬁm%aﬁgﬁ 10 9 3fere g, frar &t adu= oMy 91

(a) 32 T

(b) 33 9%

(c) 34 T%

(d) 3599

(e) 40 TY

L1Difficulty 2

QTags Ages

QCreator Deepak Rohilla

Q9. AIRTd Mg ®, (x + 2) U ufd T 60 Teq HT IUTGT Fd &, x U ufd af 120
T PT IAUTET 4 § 3N (x — 2) ¥ Ul 9 180 Tew IauTe" o3 ¢, af ufer af
ufd U ot 3NTd IUS 100 &, @ x BT A fHaar1 8?2

(@)8

(b) 4

(c)12

(d) 10

(e) 16

L1Difficulty 2

QTags Average

QCreator Deepak Rohilla

Q10. T ¢ Pt faudia fazm &t ik wur: 10 HAGS 3R 20 MAds o 7fa @
o Tl AT B g1 HA: 12 AHS 3N 10 s | UR el & ¢ I «a1s 91

(a) 500 Ht

(b) 900 Tt

(c) 400 |

(d) 600 Tt

(e) 650 1t

L1Difficulty 2

QTags Trains

QCreator Deepak Rohilla




Q11. 3ifprd 3R 3mext A U sugU H HHI: 4000 FUY 3R 3000 FTUY &7 fa=r
foar.sifra &1 sgaama Ia= & fore e uiRyfie & = d &1y 9 ufd /18 20 T4
U gid 8 SR XY 1Y & 9% & 3rgura | favnfora fear <iran 8. afe v af o
3ifHd B 360 T F AR U gt 8. Ot 3t &Y ured =M fpat 82

(a) Rs.90

(b) Rs. 100

(c)Rs. 120

(d) Rs. 80

(e)Rs. 110

L1Difficulty 2

QTags Partnership
QCreator Deepak Rohilla

Q12. fFdt 12 AW Yoir a1at U UTg F 9 &1 gare: 9 S 1 | o1l wirar 8.9fe
&l BIC U DI YOIT SHHRT: 6 A 3R 8 Tt g, °f FR BIC ¥4 T YT 71 DIforg?

(a) 10 T

(b) 14 T4

(c) 12 I

(d) 16 T

(e) 8 THT

L1Difficulty 2

QTags Mensuration
QCreator Deepak Rohilla

Q13. T A1 URT & Ufagpa 3 folt/der &t wfa I arm ovd gv 18 fodf S gt a1
Pl 8, TP URT & AP 98 JHH gut 9 fpft/der &1 1fa | aa Hdt 8. =0d od
H 919 31 7fd 319 PIforE?

(a) 3 fHl/er

(b) 5 fodil/sieT

(c) 7 fei/deT

(d) Feifed &t fopar Sram
(e) 6 fopHt/%icT
L1Difficulty 2

QTags Boat And Stream
QCreator Deepak Rohilla

Q14. T ‘COMBINATION’ & auif &1 faq fira afiel | orafRua frar s goar @
forad |t s -1y o B2

(a) 58500



(b) 48000

(c) 64800

(d) 64400

(e) 54800

L1Difficulty 2

QTags Permutation And Combination
QCreator Deepak Rohilla

Q15. UH TH! P UTSU-A RT 5 Hel H HRT ST Pl § dUT 38 TPh gI¥ UISY-B §RT 4
Hel | @l far < Iar g1 afe gl ursy Ueh-u1Y Wi o @, 99 bt I aRg 9§
Y gt ot St fva a0 o et g1 et

(a) 25 ©c

(b) 20 €

(c) 16°¢

(d) 18°°C

(e) 28 ©c

L1Difficulty 2

QTags Pipes And Cisterns
QCreator Deepak Rohilla

Solutions

S1. Ans.(c)

The raised price = % of the former price
~ The householder must now consume
% of the original amount

Reduction in consumption

= (1 — %) of the original consumption

Sol. =1:6

S2. Ans.(b)
In4 kg of ore, iron=0.9 kg
~ Quantity of ore for 60 kg of iron
= 5”’;“ = 266.67 kg

Sol.

S3. Ans.(a)



— 1oo _ 10
T 120 12
(since he purchases 120 g and pays Rs. 100,

By assumption actual CPof 1 g=Rs. 1)
gp=L35_32_18

T e0 2z 12

(Since actual MP = 180, actual SP = 135,

With 259% discount and he sells only
90 g instead of 100 g)

18 10

Profit (26) = 212 x 100 = 80%
Sol. 1z

S4. Ans.(a)

110
5.1 for one years = - =55

55 55
—— X100 =—14
1200 12

4\\5_5/5
5/12\?

12 12
5: 7
Amount given at 4% and 5% are respectively

Rs. 500 and Rs. 700.
Sol.

S5. Ans.(c)
Quantity of milk: quantity of water

_(2+3+3)_(1+1+2)

34 5/ \3"4"5
=121 :59.

Sol.

S6. Ans.(a)



A does half as much work as B in
three fourth of the time.
So, If B takes T time for doing x unit work.

3
So, A doing i—f unit work in e time.

ar
S0, A doing x unit work in rs time
1 2 1
So, =2 -+ —=—
T arT 18

By solving T = 30 days

Sol So, time taken by B alone = 30 days.
ol.

S7. Ans.(b)
Sol.
Let rate of interest be R%.

1?2:3=133:L(1+%]3
1728 :(1+i)3

13313 100 2
&) =(+5)
R =9.09%%

$8. Ans.(b)

Let the age of father is x and age of son is y.
S0, as per question

x-3y=3 . (i)
x+3-2(yv+3)=10
orx-2y=13 ........ (ii)
From (i) and (ii) we get
=10,x=33
Sol. ¥ 8
S9. Ans.(b)

Given: Average yield per year per tree is 100
(x+2)60+120x+(x—2)x180

=100 = {x+2)+x+x-2

= 100 = EUI+120+123D:+1ED.¥‘—35|}
= 300x = 360x — 240

= 60x = 240

Sol. =x=4

S10. Ans.(d)



Let the speed of the train be x m/s
According to the question,

(xk+10) = 12=(x+20) = 10

= 6x + 60 = 5x + 100

= x =100 - 60 =40m/s

~ Length of the train = (x + 10) x 12

Sol = (40 + 10) X 12 = 600 metre
ol

S11. Ans.(a)
Total profit - Remuneration = Balance profit.
This balance profit is divided in proportion to their investments
Balance profit of Ankit

" Balance profit of Aadarsh
Investment Ankit

" Investment Aadarsh
J60—-20=12 o 4000 . 4

Balance profit of Aadarsh © 2000 E
(Since remuneration of Ankit is Bs. 20 per month)

= Balance profit of Aadarsh

=3>-(12—D=R:.'.90

Since Aadarsh does not get any remuneration, hence
Sol Aadarsh receives Rs. 90 at the end of the years.

S12. Ans.(a)
Let edge of third smaller cube is a then

a®+8%+6%=12°
= a°=1000
= a=10cm

Sol.
S13. Ans.(e)
speed of boat in still water = % (9+3)=6km/h
Sol.
S14. Ans.(c)
Sol.
ATQ, CMBNTN are to be kept together and O, [& N are repeated twice
-~ Total no. of different ways = mi:ile = 64,800

S15. Ans.(b)



Sol.

LCM of 5 and 4 = 20 units

Unit work of pipe A = 2—; = 4 units
Unit work of pipe B = i—ﬂ = 5 units

When both pipes are opened together, total

unitwork of Aand B=4 + [-5) = -1 unit

So, time taken by both pipes = % =20 hours



